九十五學年度第二學期 進階線性代數 期中考 (含小考1及Ch 4.3~Ch4.7)
班級：                   學號：                    姓名：                   
1.  (10%) Let 
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, determine the inverse of A if it exists. 

2. (10%) If A, B are 2(2 invertible matrices and 
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, what is 
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3. (10%) Let 
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, evaluate |A|.
4.  (10%) Let V be the set of functions having domain the set of real numbers. It is known that V is a vector space. Let W = { f ( V | f (0)=3 }. Is the set W a subspace of V?

5.  (16%) Let W={ 
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 | a, b, c(R}. Prove that W is a subspace of M23.
6.  (10%) Determine whether the matrix 
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is a linear combination of 
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7.  (10%) Find values of t for which the set {(2, t), (2t+6, 4t)} is linearly dependent.

8.  (10%) Let P2 be the vector space of polynomials of degree ( 2. Let f (x) = x2 + 2x 1, g(x) = x +3, and 
h(x) = x2 + 3x + 2. Is the set {f, g, h} a basis for P2?
9.  (14%) Let {v1, v2} be a basis for a vector space V. Show that the set of vectors {v1+v2, v1v2} is also a basis for V.
(背面尚有試題)
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